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QUESTION 1

You want to prevent a single file from filling up a single constituent in a FlexGroup.

Which FlexGroup feature in ONTAP 9.7 will accomplish this task? (Choose the best answer.)
A. Flash Pool

B. fractional reserve

C. Snapshot autodelete

D. elastic sizing

Correct Answer: D

Reference: https://www.netapp.com/pdf.html?item=/media/7337-tr4557pdf.pdf (30)

QUESTION 2

Which two protocols does ALUA support on an ONTAP cluster? (Choose two.)
A.iSCSI

B. NVMe

C.FCP

D. NFS

Correct Answer: AD

Reference: https://library.netapp.com/ecmdocs/ECMP1204463/html/GUID-
D7570D36-76FF-4923-8ECC525AF435C2D6.html

QUESTION 3

Your customer has an NTFS volume that they want to access over both SMB and NFS. The client explains that SMB
access works fine, but the clients are unable to NFS mount the volume.

What are three reasons that would cause this issue? (Choose three.)
A. There is no export-policy rule for the NFS clients.

B. The NSF server is not configured.

C. Multi-protocol is not licensed on the cluster.

D. The volume security style must be changed to UNIX.

E. The LIF data protocol does not allow NFS.
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Correct Answer: ABD

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.exp-multp-cg/GUID-22C99AFB-
C64C4E99-8DD0-8F705BC803F8.html

QUESTION 4

You have a new ONTAP 9.7 2-node AFF A300 cluster with 2x DS224C full shelves of 3.8 TB encrypted SSDs.
In this scenario, which statement matches the factory disk-ownership setting? (Choose the best answer.)

A. All drives on shelf 1 are assigned to one node, and all drives on shelf 2 are assigned to the partner node.

B. All even-numbered drives on each shelf are assigned to one node, and all odd-numbered drives on each shelf are
assigned to the partner node.

C. Disk ownership is not assigned by the factory.

D. Drives 0-11 on each shelf are assigned to one node, and drives 12-23 on each shelf are assigned to the partner
node.

Correct Answer: C

QUESTION 5

Your company requires that all data must be encrypted in flight to prevent data from falling into the wrong hands.
What are two ways to accomplish this task? (Choose two.)

A. Ensure that SnapMirror compression is enabled in all SnapMirror relationships.

B. Modify your cluster peering relationships to support cluster peering encryption.

C. Enable Multi-Factor Authentication (MFA) for your SnapMirror relationships.

D. Ensure that all intercluster replication traffic is done through a VPN tunnel.

Correct Answer: BC
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